Geometry Support Name

Midterm Review 3 Date

Find the coordinates of the vertices of each figure after the given transformation.

1) reflection across y = -1 2) translation: 3 units right and 3 units up
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Write a rule to describe each transformation.
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Graph the image of the figure using the transformation given.
5) rotation 180° about the origin 6) reflection across y =1
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Find the measure of each angle indicated.
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Find the missing length. The triangles in each pair are similar.
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19) AQRS ~ AQEF 20) ACDE ~ACKL
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State if the triangles in each pair are similar. If so, Zomplete the similarity statement.
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State if the two triangles are congruent. If they are, state how you know.
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State what additional information is required in order to know that the triangles are congruent
for the reason given.
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Find the value of each trigonometric ratio. State as a fraction and a decimal.
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Find the missing side. Round to the nearest tenth.
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Find the measure of the arc or centf‘"l“imgle indicated. Assume that lines which appeal‘ to be
diameters are actual diameters.
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